

- Theorem (MGF for linear transformation). For constants a and b ,

$$Y = a + bX \quad M_Y(t) = E_Y(e^{tY}) \quad M_{a+bX}(t) = e^{at} M_X(bt)$$

can be used to identify the dist. of $a+bX$ from the dist. of X

Proof. $M_{a+bX}(t) = E_X[e^{t(a+bX)}] = e^{at} E_X[e^{(bt)X}] = e^{at} M_X(bt)$

- Theorem (MGF for SUM of independent r.v.'s). If X_1, \dots, X_n are independent each with mgfs $M_{X_1}(t), \dots, M_{X_n}(t)$, respectively, then the mgf of $S = X_1 + \dots + X_n$ is

$$S: \Omega \rightarrow \mathbb{R}^1 \quad M_S(t) = M_{X_1}(t) \times \dots \times M_{X_n}(t) \quad (*)$$

\because independent
 same t

Proof. $M_S(t) = E_S(e^{tS}) = E_{X_1, \dots, X_n}[e^{t(X_1 + \dots + X_n)}]$

$\because Y_1, \dots, Y_n$ are indep.
 $= E_{X_1, \dots, X_n}(e^{tX_1} \times \dots \times e^{tX_n})$
 $= E_{X_1}(e^{tX_1}) \times \dots \times E_{X_n}(e^{tX_n}) = M_{X_1}(t) \times \dots \times M_{X_n}(t)$

Note. geometric is a special case of negative binomial with $n=1$.

- Example. If X_1, \dots, X_n are i.i.d. \sim geometric(p), then

can use convolution approach (LNp.7-29)
 $S = X_1 + \dots + X_n \sim$ negative binomial(n, p).

Proof. $M_S(t) = M_{X_1}(t) \times \dots \times M_{X_n}(t)$

$$= \frac{pe^t}{1-(1-p)e^t} \times \dots \times \frac{pe^t}{1-(1-p)e^t} = \left[\frac{pe^t}{1-(1-p)e^t} \right]^n$$

By uniqueness Thm & mgf in LNp.8-35

- Example. If X_1, \dots, X_n are independent and

$$X_i \sim \text{normal}(\mu_i, \sigma_i^2), \text{ for } i=1, \dots, n.$$

Let $S = a_0 + a_1 X_1 + \dots + a_n X_n$, then $\rightarrow \begin{cases} E(S) = \mu_* & (\text{LNp.8-4}) \\ \text{Var}(S) = \sigma_*^2 & (\text{LNp.8-13}) \end{cases}$

$$M_S(t) = e^{at} M_Z(t) \quad S \sim \text{normal} \left(a_0 + a_1 \mu_1 + \dots + a_n \mu_n, a_1^2 \sigma_1^2 + \dots + a_n^2 \sigma_n^2 \right)$$

$= e^{at} \left[\prod_{i=1}^n M_{Y_i}(t) \right]$ & $Y_i \sim \text{normal}(a_i \mu_i, a_i^2 \sigma_i^2)$
 $L = \mu_*$
 $L = \sigma_*^2$

Proof. $M_S(t) = e^{a_0 t} \times \prod_{i=1}^n e^{\frac{\mu_i(a_i t) + (\sigma_i^2/2)(a_i t)^2}{}}$

Recall. joint distribution

$$= e^{(a_0 + a_1 \mu_1 + \dots + a_n \mu_n)t + \left[\frac{(a_1^2 \sigma_1^2 + \dots + a_n^2 \sigma_n^2)}{2} \right] t^2}$$

$\uparrow \mu_*$
 $\uparrow \sigma_*^2$

By uniqueness Thm & mgf in LNp.8-35

- Definition (Joint Moment Generating Function). For random variables X_1, \dots, X_n , their joint mgf is defined as

$$(X_1, \dots, X_n): \Omega \rightarrow \mathbb{R}^n \quad M_{X_1, \dots, X_n}(t_1, \dots, t_n) = E_{X_1, \dots, X_n}(e^{t_1 X_1 + \dots + t_n X_n})$$

$M_{X_1, \dots, X_n}: \mathbb{R}^n \rightarrow \mathbb{R}^1$
 multi-dimensional Laplace transform

provided that the expectation exists.

different t_i 's

(*) in LNp.8-38

- Example. If $X_1, \dots, X_m \sim$ multinomial(n, m, p_1, \dots, p_m), the joint pmf is:

$$\binom{n}{x_1, \dots, x_m} p_1^{x_1} \dots p_m^{x_m}$$

$$0 \leq x_i \leq n, \quad i=1, \dots, m. \\ x_1 + \dots + x_m = n$$

